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Apply the relation of centripetal acceleration, tangential speed, and radius of circular As mentioned in the book 12
path to calculate unknown parameters
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- Describe the trajectory of a projectile Figure 4 8
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Explain the meaning of center of mass As mentioned in the book 71&72

ALSH S 50 0 5gde 7 sl -7

bl il 48 @ty (s3] A oLtV 8 s ) anall e 535 gal) Adail) g ALSY S e

s

aSile s mllia cpa L gusis ¥ 10 8l 38 glad 5L




cpekino das ga rlingd) aliS 53S0 ,lue 16 JS )

aSile s mllia cpa L gusis ¥ 11 8l 38 glad 5L




- Explain Kepler's Second Law which states that an imaginary line from the Sun to a planet Figure 3 30831

sweeps out equal areas in equal time intervals
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Determine the moment of inertia of extended objects like the hoop, solid uniform Table 2 65 & 66
cylinder, uniform sphere, long uniform rod and rectangular plate
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Cal'cula.te the orbital period of a plam.et o.rbltmg the Sun EXAMPLE 1 30, 31,32, & 33
Apply Kepler's third Law to solve problems by finding unknown parameters
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Apply the law of universal gravitation to calculate the gravitational force or other
unknown parameters

Figure 5
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n Calculate the orbital period of a satellite EXAMPLE 2 39 & 40
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Apply the relationship between average angular velocity, angular displacement, and
the time interval for that displacement As mentioned in the book 57 &58

Solve problems related to rotational variables
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Solve problems related to rotational variables

Apply the relationship between average angular acceleration, change in angular
17 velocity, and the time interval for that change APPLICATIONS 2 58 & 59
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n Define angular velocity FIGURE 2 57
Explain that different points of a rigid object rotate at the same rate
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Apply the relation (T = Frsinf) to calculate the magnitude of torque (7) for a force of
magnitude (F) where (r) is the distance from the axis of rotation to the point where the force
is exerted, and (0) is the angle between the force and the radius from the axis of rotation to

the point where the force is applied

EXAMPLE 1 61 & 62
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Identify that a torque on a body involves a force and a lever arm which is the . .
i ] R ) . R i As mentioned in the book 60
perpendicular distance from the axis of rotation to the point where the force is applied
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